1. VITTx o gol 4947} HE & sk b 2 a4 x

@ 4 @8 ® 10 @ 12 ® 19

V25 o|B2 x = § o[t}




2.
2 < V2x < 4 & WES)

rr
N
r2
i
=
lo
=%
>
rr
~

@ 374 @
i esA @
@)6 7N ®
774

ZI— __'__ X — j! 3 ( 5 6 ZE 6 7H() I— g




o5 ™A A 919 AP A ol
P(a), Q(b) 1A a+b ] g2 oozt

ol o, d

|
[\
2o,
|
—
(@]
—t
[\
Ofe-~
we

Ct "
H =

>
> A a+b=1

P(-v2), Q1+ V2) 0|22
a+b=-V2+1++V2=1




M— V3IXx3X2x2x%x2
V55

2
:3X5X‘/_—6\/§

=3V2-6V2
=-3V2

&) =




& % 71 gkol LA Al ke shutg Pateler.

®«/§+«/ﬁ ©\/E+«/§
\/%\/E\/S v

© NG ® 1+ V6

> E:

> =g ©

9,0,® :1+ V6
© : V5 +1 ot}
uakA o2 skt @clt.




V2-1
D -2+2 @ 3-2v2 ® -3+2v2
@3+2«/§ B 22

(¥2+1)2 =3+2v2

(V2-1)(V2+1)




2VE O] A4 HEG g 44 HEG pat e, a—b ©] S Fotolat,

2vV5=+v20°]1,4< V20 <5 0|B &
a=4,b=2+5-40|t}.
na-b=4-(2V5-4)=8-25




8. VG0a 7t A5k 5171 A 4 AL AQ5 o B Fofolel,
> =
>

it

. 15

V0@ 7} A7t €17] Sl ol o] Algo] Hofof gt
60 =22x3x50B2 g=3x5=15o|t}.




B

V21

1o,
M
Ha
il
o

5

a

@ 2 3)3

@ 4

@iststal = Ak ] . a o] ghe?

® 5




6v2  3V5 3+5

10. +2 & Fs] YERfE?

2 5 5
@3«/§+2 @ 3V2+3V5+2
® 3vV5+2 @ 3v2-2
® 3v5-2
6v2  3v5 3+5

2—=3v2+2
5 = e 3V2 +




